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*ﬁﬁﬁg TREOBHOEILADKRES TREDOHBEBSSLODKRES TREOBBOESILADKRES TREDOHFESSLNIDOKRES
= = DV Er HEHVE T = = TR HVE = HEHVE sl =
= X % .(ES ‘Fim?b(z)wﬂﬁraﬁ jj(gifnié K 4 ‘Fimﬁré%zg;ki .z,né)r jj(lfl)\l?(n%é R 4 ,(Er,na)c J:mfs(z)wttm j’(ﬁ’ﬁfﬁé X 4 J:m?f)(z)o)ttﬁ '?n? j](:r)\lj/knié
; 100kN/mM#Z#B% % -~ -[3mZEEBR S -~ - -| 100kN/M#Z# 8% % - ~ -[3mEBZS ~ -
Zh s 1.00 | 000 ~ 328 48.78 | Fhis | 000 ~ 0.00| 1.60 7.05 zhnLs 1.00 | 5.00 ~ 5.00 48.78 | #nLSY | 5,00 ~ 5.00 | 1.60 7.05
2 100kN/mM%Z#BZ % ~ -|3mEBZD ~ -| 100kN/M%#BZ% ~ -|3mE#Z D ~
Zhn s 1.00 | 0.00 ~ 4.64 68.08 | Tnlst | 000 ~ 0.00] 1.58 6.93 ZznLst 1.00 | 5.00 ~ 8.560 68.08 | TN | 65,00 ~ 8560 | 1.68 6.93
3 100kN/mM%Z#BZ % ~ -|3mE#BZD ~ -| 100kN/M%#BZ % ~ -|3mE#BZD ~
Zhn s 1.00 | 000 ~ 502 78.73 | #hst | 000 ~ 502|193 8.50 ZhnLst 1.00 | 5.00 ~ 10.00 73.73 | =S | 5,00 ~ 1000] 1.93 8.60
4 100kN/mM%Z#BZ % ~ -|3mEBZD ~ -| 100kN/M%#BZ% ~ -|3mEBZD ~
zh s 1.00 | 000 ~ 549 80.93 | Fhis | 0.00 ~ 549 1.93 8.51 zhLs 1.00 | 500 ~ 11.90 80.93 | #nLS | 5,00 ~ 1190 1.93 8.561
5 100kN/m#Z#BZ% | 1.00 | 000 ~ 058 109.83 |3mEBZ5 ~ -| 100kN/M%#BZ 5| 1.00 | 1512 ~ 1948 109.83 |3mE#EZB ~
zh s 1.001 058 ~ 727 100.00 | Ths | 0oo ~ 727|221 9.73 zhLs 1.00 | 5.00 ~ 1512 100.00 | =ns | 500 ~ 1948| 2.21 9.73
g 100kN/m%#E=2% | 1.00 | 0.00 ~ 1.50 125.81 |3mZE#BZB| 0.00 ~ 093|541 14.99 | 100kN/m%E#825 | 1.00 | 1509 ~ 4212 12581 |3mZ#BZ 3| 2000 ~ 4212| 3.41 14.99
zh s 1.00] 150 ~ 818| 100.00| ThLs | 093 ~ 818| 3.00 13.20 zhLst 1.00 | 5.00 ~ 1509| 100.00 | Fhs | 500 ~ 40.00| 3.00 13.20
7 100kN/m%#E=2% | 1.00 | 000 ~ 213 137.40 |3mZE#BZB| 0.00 ~ 1.20| 8.56 15.68 | 100kN/m##Z5 | 1.00 | 13532 ~ 43.79 137.40 |3mZEBZB| 30.00 ~ 43.79| 3.56 15.68
zh s 1.00 1213 ~ 882 100.00| Ths | .20 ~ 882| 3.00 13.20 zhLst 1.00 | 5.00 ~ 1332| 100.00| Fhs | 500 ~ 3000 3.00 13.20
g 100kN/m#%#BZ % ~ -|3mEEZ D ~ -| 100kN/m%H#BZ % ~ -[3mEEZS ~
zh s 1.00 | 0.00 ~ 649 96.87 | #FhLs | 0.00 ~ 649|211 9.26 zhLst 1.00 | 500 ~ 1856 96.87 | EnLSY | 5,00 ~ 1856 | 2.11 9.26
9 100kN/m#%#BZ % ~ -|13mEEZD ~ -| 100kN/m%H#BZ.% ~ -|3mEEZS ~
Zn LS 1.00 | 0.00 ~ 651 97.17 | ThLs | 000 ~ 651|229 10.06 zh st 1.00 500 ~ 11.98 97.17 | Fhst | 5,00 ~ 1198|229 10.06
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8Z % ~ IMEEZD ~
Zn LS ~ ZThLsh ~ LS ~ Zn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
Zh s ~ Zh LS ~ Zh LS ~ ZnList ~




